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PapPer 11

(PHYSICAL EDUCATION)

1. Which of the following allows air to pass into
the lungs?
(A) Aorta
(B) Esophagus
(C) Heart
(D) Trachea

2. Which of the following is located beneath the
diaphragm in the left upper quadrant of the abdominal
cavity?

(A) Appendix
(B) Duodenum
(C) Gall bladder
(D) Spleen

3. How many salivary glands are there in the
human body?
(A) Two
(B) Four
(©) Six
(D) Eight

4. Which among the following is known as funny
bone?
(A) Humerus Bone
(B) Ulna Bone
(C) Femur Bone
(D) Tibia Bone

S. A key enzyme in ATP-CP energy system is
known as
(A) Myoglobin
(B) Myokinase
(C) Myofibril

(D) Invertase
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6. Adipocytes are found in which type of tissue?

(A) Muscle tissue
(B) Epithalial tissue
(C) Nervous tissue

(D) Connective tissue

7. The cells that are found in tendons are called

(A) Osteocytes
(B) Adipocytes
(C) Haemocytoblasts
(D) Fibroblasts

8. Which organ of the Alimentary canal is known
a ‘Graveyard of Red Blood Cells’?
(A) Pancreas
(B) Spleen
(C) Duodenum
(D) Liver

9. The formation of erythrocytes in foetus takes
place in
(A) Redbone marrow
(B) Sarcoplasm
(C) Liver and spleen
(D) Plasma

10. Anti-diabetic hormone is secreted by

(A) Posterior Pituitary
(B) Anterior Pituitary
(C) Both (A) and (B)

(D) Liver
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11. Proximo—distal growth means

(A) development from spinal cord outwards.

(B) no uniform growth and development.

(C) growth from general to specific.

(D) growth from head to the lower body parts.

12. Globins of the blood plasma are responsible for

(A) Defence mechanisms
(B) Blood clotting

(C) Oxygen transport
(D) Osmotic balance

13. Which of the following is the large bone found
superior to the patella and inferior to the ischium?
(A) Calcaneus
(B) Femur
(C) Tibia
(D) Ulna

14. Which of the following controls body
temperature, sleep and appetite?
(A) Adrenal glands
(B) Hypothalamus
(C) Pancreas
(D) Thalamus

15. At which of the following locations does bile
enter into the digestive tract?
(A) Gastroesophageal sphincter
(B) Duodenum
(C) Ileocecum
(D) Jejunum
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16. Oxygenated blood is carried to the heart by
which of the following structures?
(A) Aorta
(B) Carotid arteries
(C) Inferior vena cava

(D) Pulmonary veins

17. Where is the sinoatrial node located?
(A) Between the left atrium and the left
ventricle

(B) Between the right atrium and the right
ventricle

(C) In the upper wall of the left ventricle
(D) In the upper wall of the right atrium

18. Which of the following structures is part of the
small intestine?
(A) Ascending colon
(B) Cecum
(C) Ileum
(D) Sigmoid colon

19. Which of the following organs removes bilirubin
from the blood, manufactures plasma proteins, and is
involved with the production of prothrombin and

fibrinogen?
(A) Gall bladder
(B) Kidney
(C) Liver
(D) Spleen

20. Inwhichsportsisthe participant called Pugilist?
(A) Sprinter
(B) Boxing
(C) Wrestling
(D) Javelin throw
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21. The theory of supercompensation was put forth
by
(A) John Dewey
(B) Nikolai N. Yakovlev
(C) Morgan and Adamson
(D) Herbert Spencer

22. The principle of ‘effort and recovery’ is the
foundation of which training method?
(A) Continuous training
(B) Periodic training
(C) Fartlek training

(D) Interval training

23. A cooldown hastwo key components. What are
they?
(A) High intensity excercise and Stretching
(B) Low intensity excercise and Stretching

(C) Mobility excercise and Dynamic
movements

(D) Skill rehearsal and Stretching

24. The endurance training method that involves
periods of hard work followed by time period of rest
repeatedly—

(A) Continuous
(B) Interval
(C) Fartlek

(D) Pace runs

25. What type of speed is defined as the ability to
maintain maximum speed for maximum distance and
maximum duration?

(A) Acceleration ability
(B) Movement ability
(C) Locomotor ability
(D) Reaction ability
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26. ‘Active flexibility’ refers to

(A) muscular stretch without assistance.
(B) muscular stretch with assistance.
(C) stretching at maximum range.

(D) stretching at minimum range.

27. What kind of coordinative ability is defined as
the ability to determine the position of the body and its
parts in time and space with respect to gravity and

moving objects?
(A) Balance ability
(B) Orientation ability
(C) Differentiation ability
(D) Coupling ability

28. Who of the following is the first Indian woman
to win a gold medal at the Asian Games?
(A) P.T. Usha
(B) Karnam Malleshwari
(C) Kamaljit Sandhu
(D) Sania Mirza

29. “Recreation is not a matter of motions but
emotions”— said by whom?
(A) Joseph Lee
(B) Ramney
(C) John Dewey
(D) John Hizinga

30. Functional theory of stratification propounded
by
(A) Devis and Parsons
(B) Davis and Moore
(C) Parsons and Ross
(D) Goode and Hatt
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31. Schiller and Spancer are associated with one of
the following theories of play:
(A) Anticipation
(B) Surplus energy
(C) Recapitulation
(D) Recreation

32. Who was the pioneer of medical gymnastics?

(A) Rousseau
(B) Gestalt

(C) Aristotle
(D) Hippocrates

33. Autocratic leaders

(A) allow subordinates to make decision.
(B) seek input from the subordinates.
(C) seek input and do what the majority want.

(D) tend to sell subordinates what to do and
expect to do it.

34. Pick the odd one out.

(A) Ambivert
(B) Openness
(C) Extroversion
(D) Neuroticism

35. A person having both traits of introvert and
extrovert is known as
(A) Mesomorph
(B) Extroversion
(C) Endomorph
(D) Ambivert
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36. Nature and nurture refer to

(A) Internal and External environment
(B) Temperament and Character

(C) Physical features and Temperament
(D) Heredity and Environment

37. Elctromyography is measured in which unit?
(A) Mole
(B) Ampere
(C) Kelvin
(D) Microvolts

38. Which one of the following diseases is
categorized as psychosomatic disease?
(A) Smallpox
(B) Jaundice
(C) Hypertension
(D) Tuberculosis

39. Internship programme of teacher education
provides
(A) Content Course
(B) Practical Course
(C) Complete School Environment
(D) Research Courses

40. The first step in planning process is

(A) Identification of Target Groups
(B) Determination of Goals

(C) Mobilization of Resources

(D) Provision of Facilities

X-10

36. 230 R AT @IS @R
(A) SerEde 3R g oAfaea=t
(B) FOIX ¥ Bf7g
(C) IS @Y @3 rerier
(D) JHiife @3 sAfaca=

37. TEENEIAE @ 9IS oAfa=ior Fa1 2372
(A) Gl
(B) =uif~=
(C) &=1req
(D) ZCFICSTHA

38. A5d @ @ifoE ARGENIDE @ie Reww
Eiiee Tl 232

(A) TEITE
(B) &

(C) TH TEHIo
(D) ==

39. R R OIS (Al e FE—
(A) g @t
(B) IRz @il
(C) =)<l g1 ~Afca
(D) Stz i

40. AR 2GR AT A7l 26T
(A) TGS (SBIF =Gl
(B) T fiae
(C) F=o7 FZo<l

(D) AR <!



41. Which of the following is the first step in sports
programme?
(A) Directing
(B) Staffing
(C) Planning
(D) Budgeting

42. The NCERT logo of three intertwined Hansas
depicts three important aspects based on which NCERT
functions.

Which among the following is not an aspect of
NCERT?

(A) Recruitment

(B) Research and Development

(C) Training

(D) Extension

43. Pondreal Index of baby with weight of 2000 gm,
height of 50 cm is
(A) 2.6
(B) 3.6
©) 16
D) 2.2

44. Who among the following was nominated for
the prestigious Laureus World Sports Awards?
(A) Anirban Chatterji
(B) Pankaj Advani
(C) Dutee Chand
(D) Vinesh Phogat

45. A longer commercial that mixes entertainment
along with information in a program like format is
known as

(A) Advertorial
(B) Informercial
(C) Space feature
(D) Classified

X-11
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46. Components of curriculum is

(A) Teaching strategies
(B) Objectives

(C) Evaluation

(D) All of the above

47. If the mode of the following data is 7, then the
value of K in the dataset 3, 8,6,7, 1, 6, 10, 6,7, 2K+5,
9,7and 13 1s

(A) 3
B) 7
© 4
D) 1

48. Standard Deviation represents spread of scores
around
(A) Mode
(B) Median
(C) Range
(D) Mean

49. What are the conditions in which type-I error
occurs?

(A) Thenull hypotheses get accepted evenif it
is false.

(B) The null hypotheses get rejected even if it
is true.

(C) Both the null hypotheses as well as
alternative hypotheses are rejected.

(D) None of the above

50. Which one of the following variables is not
categorical?
(A) Age of a person
(B) Gender of a person : male or female
(C) Choice on a test item : true or false

(D) Marital Status of a person (single, married,
divorced, other)
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51. Let, the average of three numbers is 16. If two
of the numbers are 8 and 10, what is the remaining

number?
(A) =30
B) 18
©) 12
(D) 30

52. In observational research there are no

(A) Variable

(B) Standardized test
(C) Experimental tests
(D) Statistical tests

53. There are different methods to measure
reliability among them Split-half method measures
(A) External consistency
(B) Internal consistency
(C) External and Internal consistency

(D) Neither Internal nor External consistency

54. Statistical hypothesis is derived from
(A) Frame
(B) Data
(C) Sample
(D) Facts

55. Trippit table refers to as

(A) Table of significance

(B) The table used in sampling methods
(C) The table used in statistical proportion
(D) All of the above
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56. Achievement motivation is synonymous to

(A) Biofeedback theory only
(B) Feedback theory

(C) Neuro- biofeedback theory
(D) None of the above

57. For effective administration, the physical
education teacher must possess
(A) Good personality
(B) High qualification
(C) Teaching ability
(D) Technical knowledge and skills

58. Which of the following is not a relaxation
technique?
(A) Biofeedback
(B) Progressive Muscle Relaxation (PMR)
(C) Meditation
(D) Imagery Technique

59. Which of the following stages is not the part of
Burner’s Cognitive Development Theory?
(A) Enactive stage
(B) Iconic stage
(C) Intuitive stage
(D) Symbolic stage

60. The theory of learning through Operant
Conditioning was given by
(A) Albert Bendur
(B) Pavlov
(C) B.F. Skinner
(D) Thorndike
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61. The anatomic location of the spinal canal is

(A) caudal
(B) dorsal
(C) frontal

(D) transverse

62. If the foot is abducted, it is moved in which
direction?
(A) Inward
(B) Outward
(C) Upward
(D) Downward

63. Biomechanical function of long bones in the
body is to
(A) Give strength
(B) Give protection
(C) Actas lever

(D) Provide surface area for muscles
attachment

64. The law of acceleration is also known as

(A) Law of inertia

(B) Law of action and reaction
(C) Law of momentum

(D) Boyle’s law

65. Which of the following planes of the body
divides it into upper and lower parts?
(A) Saggital
(B) Transverse
(C) Vertical
(D) Frontal
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66. Which among the training methods is not used
for developing flexibility?
(A) Ballistic method
(B) Slow continuous method
(C) Slow stretching and holding method
(D) Post-Isometric stretching method

67. The principle of Buoyancy was given by

(A) Newton
(B) Einstein
(C) Coubertin
(D) Archimedes

68. In which type of lever the fulcrum is in between
weight and force?
(A) 1stClass
(B) 2nd Class
(C) 3rd Class
(D) All of the above

69. Which muscle is known as ‘Boxers muscle’?

(A) Deltoid
(B) Pectoralis Major
(C) Serratus Anterior

(D) Latissimus Dorsi

70. Which motion moves the bottom of the foot
away from the midline of the body?
(A) Plantar flexion
(B) Elevation
(C) Dorsiflexion
(D) Eversion
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71. Movement in a circular motion at a condyloid
joint is what type of motion?
(A) Circumduction
(B) Rotation
(C) Elevation
(D) Abduction

72. Condyloid Joints are

(A) Joints of skull

(B) Knee joints

(C) Shoulder joints
(D) Joints of the thumb

73. The time elapsed between the moment of
application of a stimulus and the moment of first
response is

(A) Reaction time
(B) Movement time
(C) Response time
(D) Reverse time

74. Acronym LCD stands for
(A) Liquid Crystal Display
(B) Light Crystal Display
(C) Liquid Compact Display
(D) Light Compact Display

75. FTP is an acronym for

(A) File Transaction Protocol
(B) File Truncation Protocol

(C) File Translation Protocol
(D) File Transfer Protocol
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76. URL stands for

(A) Universal Resource Location
(B) Universal Response Locator
(C) Unified Response Location

(D) Uniform Resource Locator

77. In a computer a byte generally consists of
(A) 4 bits
(B) 8 bits
(C) 10 bits
(D) 16 bits

78. Errors in computer programmes are called
(A) Follies
(B) Mistakes
(C) Bugs
(D) Spam

79. Which of the following is not a programming

language?

(A) JAVA

(B) Microsoft Office
© c

(D) Pascal

80. Disk defragmentation helps to

(A) remove the virus from the system.

(B) use the disc space at an optimal level.
(C) Both of the above
(D) None of the above
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81. Which of the following is not an operating
system?
(A) Linux
(B) DOS
(C) Oracle
(D) Windows

82. Most of the data transferred through the internet
are carried by
(A) Light
(B) Heat
(C) Sound
(D) Touch

83. Which of the following is an extension of image
file?
(A) .mkv
(B) .gif
(C) .axt
(D) .vdf

84. Profuse sweating, during strenuous physical
activity causes the loss of
(A) Potassium
(B) Calcium
(C) Glycogen
(D) Sodium chloride

85. NIACIN is found in which of the following?

(A) Tomatoes
(B) Eggs

(C) Cereals
(D) Yeast
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86. Name of the communicable disease known as

Hansen’s disease is
(A) Leprosy
(B) AIDS
(C) Covid
(D) Small pox

87. Frost-bite is caused by

(A) Chemical agent
(B) Biological agent
(C) Nutrient agent
(D) Physical agent

88. Torticollis also known as

(A) Wryneck

(B) Hollow back
(C) Round Shoulder
(D) Genuvalgum

89. Massage is using the hands to knead the injured

tissues of your body to help

(A) Decrease pain

(B) Improve circulation

(C) Decrease muscle tension

(D) All of the above

90. Traction is used in the treatment of

(A) Low back pain
(B) Strain

(C) Sprain

(D) Contusion
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91. The study of different aspects of aging is known
as
(A) Gerontology
(B) Gynaecology
(C) Odontology
(D) Chronology

92. Which of the following is the body cavity that
contains the pituitary gland?
(A) Abdominal
(B) Cranial
(C) Pleural
(D) Spinal

93. Match List-I with List-II and select the correct
answer using the code given below:

List-1
(a) Talent detection
(b) Talent identification
(c) Talent selection

(d) Talent development

List-11
(i) Screening
(i1)) Advancing
(iii)) Discovery
(iv) Choosing

Codes:

@ @b @© @
(A (@) @G @) @[v)
B) @) @) @Gv) @)
© @Gv) @) @ (D)
D) @Gi) @  Gv) (D)

94. Match List-I with List-II and select the correct
answer from the codes given below:
List-1 List-11
(a) Scientific Misconducts (i) Drawings
(b) Human skills (i) Categorical
(c) Non-publication data (iii) Sanctions

(d) Plagiarism (iv) Cooking data

Codes:

@ @b @© @
(A) Gi)y Gi) @G (@{1v)
B) @Gv) a) @) @)
© Gy @) @Gv) @)
D) © av) G (i)
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95. What is the main objectives of NAAC in India?

(A) Establishing Universities
(B) Evaluating Universities
(C) Accrediting Universities
(D) Funding Universities

96. Indicate the number of Regional Offices of
National Council of Teacher Education.
(A) 04
(B) 05
(€C) 06
(D) 08

97. Group Tension comes in two types. They are—

(A) Internal and External
(B) Interpersonal and Intrapersonal
(C) Primary and Secondary

(D) Group and Environment

98. According to idealism, what is the goal of
education?
(A) Satisfaction of Human needs
(B) Self-realization or exaltation personality
(C) Perfect adaptation to the environment

(D) Developing adynamic and adaptable mind
which is resourceful and enterprising in
all situations.

99. Which part of the brain acts as respiratory
centre?
(A) Medulla oblongata
(B) Cerebrum
(C) Hypothelamus
(D) None of the above

100. Rationalisation theory of management
unequivocally advocates
(A) Freedom of thought and action
(B) Division of responsibility
(C) Division of authority
(D) Right person for the right job
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